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mat | mm | FmERA gﬁ %gfg wee | e | s | B e T Qgﬂz | P f%?g%;f g‘;ﬁiﬁég SR | AR SR ng{? we | omm
1 15-1 EbLiised = TR e 68 11.65 7 / 11 $17,600 1.2 15,657.00 | T5& = (on= 15,657 |Y
2 15-2 SSHEES (a= TR TR 30-6 15 7 / 11 $17,600 1.2 20,160.00 | TF& lon= lon= 35,817 |Y
3 15-3 EbLiised = TR T |FEET [245-10 30 18 / 55 $17,600 1.2 20,736.00 | TF& = (on= 56,553 |Y
4 15-4 S5HEES (a= el XE 1114 22.15 1 / 27 $52,500 1.2 516800 | Fi& lon= lon= 61,721 |Y
5 4-1 BB o= TR el 6 82.68 1 / 2 $31,000 1.25 160,192.00 | & (on= (on= 221913 |Y
6 4-2 OS5 f= (ES e 36 89.62 1 / 2 $31,000 1.25 173,638.00 |  Fi& (= (o= 395,551 |Y
7 4-4 BB loa= =% [ 489 813.67 229 / 420 $28.,500 1.28 1,618,412.00 |  Fi& = fon= 2,013,963 |Y
8 4-5 A% f= =k [ 464 188.28 315 / 420 $28,500 1.28 515,134.00 | FF& (= (= 2,529,097 |Y
9 4-3 BB o= TR il 1053 53 1 / 1 $16,000 1.3 110,240.00 |  1& = lon= 2,639,337 |Y
10 5-4 TAEHE (o= e XE 114-8 6.53 1 / 1 $44,700 1.34 39,113.00 | TF& fia= lia= 2,678,450 |Y
11 5-5 TEE = e X E 114-9 7.29 1 / 1 $44,700 1.34 43,665.00 | Fi& = fon= 2,722,115 |y
12 5-6 TAEHE (o= e XE 114-10 8.3 1 / 1 $44,700 1.34 49,715.00 | FFé& fia= fia= 2,771,830 |Y
13 5-7 TEYE e e XE 114-11 6.09 1 / 1 $44,700 1.34 36,477.00 | & = (o= 2,808,307 |Y
14 5-8 T2EE = e XE 114-12 3.07 1 / 1 $44,700 1.34 18,388.00 |  FF& (= (= 2,826,695 |Y
15 5-9 TEE = e X E 114-13 2.82 1 / 1 $44.,700 1.34 16,891.00 |  FFé& (on= (on= 2,843,586 |Y
16 5-10 TAEHE (o= e XE 114-14 5.33 1 / 1 $44,700 1.34 31,925.00 | F& lia= lia= 2,875,511 |Y
17 5-11 TEE = e X E 114-19 5.21 1 / 1 $44,700 1.34 31,206.00 | TF& = fon= 2,906,717 |Y
18 5-12 TEHE fia= e XE 114-20 5.17 1 / 1 $44,700 1.34 30,967.00 | TFE = lin= 2,937,684 |Y
19 5-13 T2EE o= el X5 114-21 5.13 1 / 1 $44,700 1.34 30,727.00 | & (on= fon= 2,968,411 |Y
20 5-14 TEHE fia= e XE 114-24 4.72 1 / 1 $44,700 1.34 28.271.00 | & lin= lin= 2,996,682 |Y
21 5-15 TEE o= el X5 114-25 4.43 1 / 1 $44,700 1.34 26,534.00 | & lon= fon= 3,023,216 |Y
22 3-1 REE fia= =k [E1E 464 188.28 5 / 20 $28,500 1.35 181,101.00 | & lin= lan= 304,317 |Y _
B | 32 RET we | oK | EE 581 | 46004] 1 /|4 §30930|  1.35 48023000 | & | mE ) 3,684,547 N U
24 3-3 REE = =k [ 1 489 813.67 1 / 4 $28,500 1.35 782,648.00 |  Fi& lin= (= 4,467,195 N
25 5-1 TEE o= el =l 397 32.88 1 / 1 $45,715 1.38 207,429.00 |  FF& fon= (on= 4,674,624 |N
26 5-2 TEE = e E 114-15 13.28 1 / 1 $44,700 1.38 81,919.00 | & lia= lin= 4,756,543 [N
27 5-3 T2EE o= el E 114-16 13.8 1 / 1 $44,700 1.38 85,126.00 | & (on= fon= 4,841,669 [N
28 16 B fia= B TEE 483 336.28 1 / 1 $29.,430 1.39 1,375,644.00 | Fi&y lin= lin= 6,217,313 [N
29 17 P 5 o= Brid TR 486 35.96 1 / 1 $43,200 1.39 215932.00 | FFé& lon= (on= 6,433,245 [N
30 18 Pk fia= B il 487 35.2 1 / 1 $24,741 1.39 121,052.00 | & lia= lia= 6,554,297 [N
31 2-1 eSS loa= (HES TR | FEHF |244-11 222 2 / 28 $17.600 1.43 39,909.00 | & loa= o= 6,594,206 [N
32 2-2 e 2] = (M IE TrEE [246-1 255 6 / 96 $42,000 1.43 95,720.00 |  TF& = = 6,689,926 |N
33 2-3 eSS la= (MES (MRS e [249-13 187 6 / 96 $50,000 1.43 83,565.00 | & (o= la= 6,773,491 [N
34 2-4 eSS fia= TR (U PrE |250-1 227 6 / 96 $50,000 1.43 101,440.00 | & lia= lia= 6,874,931 [N
35 12 HIEE o= ST ) 99-2 3.23 1 / 1 $381,900 1.5 39,680.00 | & (o= (o= 6,914,611 [N
36 13 HiIRE = bl HEE 76-2 14.76 1 / 1 $31,300 1.5 69,298.00 |  TH& = = 6,983,909 |N
37 8 HiEEE loa= e E 10 692.02] 10313 / | 62500 $44.,700 1.6 816,678.00 | FFé& loa= o= 7,800,587 [N
38 9 HEREE e | O JEEE 76-1 64.6 1 / 1 $31,300 1.7 343,736.00 | & (o=} (o= 8,144,323 |N
39 10 HirEEs =) D | Hh3E 671-3 100 1 / 1 $21,200 1.75 371,000.00 | Fré& o= loa= 8,515,323 N
40 11 TR EE lia= b | th3E 671-4 100 1 / 1 $21,200 1.75 371,000.00 | Fié& lia= lia= 8,886,323 [N
41 7 e =) D | s 977 189.97 1 / 1 $21,200 1.8 72492500 | & loa= o= 9,611,248 [N
42 14 TR EE lia= D | th3 671 261 1 / 1 $21,200 1.8 995976.00 | & o= lia= 10,607,224 |N
43 1 SR E (o= i | ERE 834 132.08 47 / 100 $11,200 1.5 104,290.00 | & N = (on= 10,711,514 |N
44 6 HIpEE (o= pi; 1| hE 671-2 100 1 / 1 $21,200 1.75 371,000.00 | FF& AEE fan= 11,082,514 N




